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o Please check that this question paper contains 7 printed pages + 2 Maps.

e Code number given on the right hand side of the question paper should be written on the
title page of the answer-book by the candidate.

e Please check that this question paper contains 27 questions.

e Please write down the serial number of the question before attempting it.
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Time allowed : 3 Hours Maximum Marks : 100
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General Instructions :

1. Answers to questions carrying 2 marks should not exceed 30 words each.
Answers to questions carrying 4 marks should not exceed 60-80 words each.
Answers to questions carrying 6 marks should not exceed 100-125 words each.
Maps should be securely tied in the middle of the Answer-Book.

Attempt all parts of a question together.
Stencils or templeates for drawing outline maps may be used wherever necessary.
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Describe briefly two main features of Archaeological heritage of India. 2x1=2

ARAE Qacid fEd @ & g fasivarsti &1 g8 9 ao #ifo |

“Indian heritage is very rich, vast and varied and forms a colourful cultural mosaic.”
Substantiate this statement with any two examples. 2x1=2

“qRaE foREa 9gd 99, faega, dfaeget § S W arepiae O awga e © 1
HIE 2 I ST 3/ HAT Dbl gfee i |

State four characteristics of natural resources. 4x1o=2
UThicieh GETEHT i IR faQIudrst @l Swid I |

Mention four advantages of forests to man. 4Ax1Hp=2
g % o FHl %GR Al B I B |

What is the ore of lead called ? Give three uses of lead. Yot+11o=2

AT & 3Tk H T HEl AT & 7 HEl & | SUINT ST |

How has climate made our land more valuable from the agricultural point of view ? Give
two points. 2x1=2
Jag | B 9 A P #F e § FE yeR e SwEnt g mEr § o7 & fag
AT |

“There is need to conserve wild life in India.” Give two reasons. 2x1=2
“ORT H g7 SidT T G 3EEH & 17 & HIROT ST |

Study the following diagram, showing net area under irrigation by different means
(1997-98) and answer the questions that follow : 1+1=2
INDIA
NET AREA UNDER IRRIGATION BY DIFFERENT

MEANS (1997-98)
Other Sources

Canals
(Govt.)

30%
= IIII = IIII
M=EM=N=E
= illl = 1Il| = IIII
Canals (Private)
Tubewells & = 1%
Other Wells Tagg:

57%

(8.1) Which is the major source of irrigation in India ?
(8.2) In which parts of India is tank irrigation common ?



Note :
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(8.1) wra # fHarE ® w@ WEA HEET & ?
(8.2) WRd & H-H dE ¥ fHEE @ S g o7

The following question is for the Blind Candidates only in lieu of Q. No. 8.

e :  [FElatad geT P ghed ghemeal & g 99T q@mr 8 F W W O£

10.

11.

12.

Why is irrigation necessary in India ? Give two reasons. 1+1=2

qeg 4 e @ omawedr = § ? S B AT

Explain two main reasons for the need of environment-friendly economic growth and two
suggestions to achieve them. 2

ATATEROT-HAT STl faepre &l STasaehdl & T & @& SR T AT SR IFd! T
% foro gz iR

“Indian economy is developing and progressive in nature.” Do you agree with this view ?
Support your answer with two examples of each. 2

“URA STeferaeT Ypia § fammeiia oiR wfaslia €17 Fr oY 39 HYUN ¥ end § ?
U S H G § YAH b & IS A |

What is Globalisation ? Mention two main shortcomings of Globalisation in the context of
India. 2

IR FT & 7 URA & HaW H A9 &N & &I Bl H Iwi@ i |

Evaluate briefly the main features of India’s developmental strategy prior to 1991.

1991 ¥ 94 ARA &I [ wEAd S e fasioarsti & gaq § qedie Hiig |
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17.

18.
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20.

“The problem of population growth and underemployment have a direct relationship.”
Explain this statement briefly. 2
“FaEEr H g B 9 iR SIPRNNR § I T T 17 39 hUd Bl dad |

T BT |

Describe the main features of Indian festivals and their importance in promoting national
integration in India. 4
AR @RRI I 9@ [I9uarsti 1 9o T T IR § TS THIRT ®f dgH |

g-chl Hexd ddiU |

Mention two names of the writers with their works of historical importance in Persian
language each from the Sultanate and Mughal period. 4

OR

Write the names of any four Muslim writers who wrote in Hindi language during the
Medieval period.

qeaad B AR A B § GREr 9o # fordl T q-ar Uferiie dew dl g
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Explain any four methods of conservation of our mineral wealth. 4x1=4

T @S FHET & GO & U fhel 9 AR & e Sy |

Explain how India has been playing a significant role in promoting world peace through
the United Nations. 4

qRA o Hgh UL-HE & qegq g faga-anfa & ger & fou e ger qeaqel aneH
fGr & 7 o #ivm)
State any four programmes of Poverty Alleviation started by the Government of India. 4

ARA AR BN T 39 & fau e fhu 0 fReel ar ®ripdi &l aareg |

Describe the salient features of the Consumer Protection Act of 1986. How did it enhance
the powers of the redressal machinery in India ? 4

1986 & TUHIHI HEOT ATAMEH @ g&g [gudrel w1 aofq ®ifg | 9ra # 9
stferfrm o Rl @ R aral Hersll & AER H B giE Wb o 7

Why has conservation and protection of historical monuments become a complex
problem ? Explain three reasons for it and suggest ways to solve this complex problem.

UfeIite TIRGT &1 ST iR §RaT Us dfed §9El F®i & e & 2 Th M BRI
e HINT AR 3@ Afed qaET & T & a0 gaa g |
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24.

25.

What are the two most important beverage crops in India ? State the favourable
conditions for their growth. Mention two major producing states of each crop. 1+3+2=6

ARG 1 & 999 TI@ U9 BEG HEEl & 2 3T BEal B 999 & [0 AJHd a9
gAZT | Y% BHA % & I SAGh Todl hl AHIed@ HIT |

What is the importance of sugar industry ? Why does sugar industry show the tendency

to migrate towards the southern states of India ? Give four reasons. 2+4=6
OR

How has chemical industry gained an important position in the Indian economy ?

Explain any six points in this regard. 6x1=6

AT SN BT FT TET & 2 ARG H T I8N & Jaad o ygha afelt I @ iR

F fo@E g § 2 9R HROT AT |
qq

ARAT STfTae | AT ST 3 68 YhR "e@yel ©H o &Y fadr & » 39 e
7 5l 5 fargelt & @ #Hifw)

Why are means of transport and communication essential requirements of human life ?
Explain three points of each. 3+3=6

TReaed IR AR & A g Sdd B SiNad Sagdehdid FJb E 2 Ude & dld
fargatl &\ Hifog

Explain the causes of unemployment in India and suggest measures to reduce
unemployment in India. 6
OR
Examine the role of ‘skill development’ in reducing educated unemployment in India.
State two measures taken by the government in this regard.
ARG § T & HROT Bl T BT X 9RT H SRISF & HH HE & [0 A
AT |
T
AR ¥ AR RFRE & G0 & & & | DI [Ihe & i & awrer
HIT | 29 e H OpR g 39 &9 § fou U < Sug SaRu )

Explain the main achievements of the Government of India in the improvement of health
status of the people after 1947. 6
OR

Explain any four steps taken by the government in the direction of women
empowerment.



26.

27.

1947 & U9 WRA TR I AN H1 @A X FART B &7 H B T I B
J& YA Bl T BT |

Har
Al AMhebtoT i fEem § TR a1 oy MU fheel IR YAl ol & &g |

Explain the ill effects of communalism and casteism in India. 6

ARA H AFEIASdT AR Saare & THYE & T Hifg |

(@ On the given outline map bfdia (on page 9), locate and label the two states each
having one of the following monuments : 2
() Rashtrapati Niwas
() Gol Gumbad

(b) In the given outline political map bfdia (on page 11) are shown three
geographical features marked A, B, C. Identify these features and write their names

in the space provided. 3x1=3

(c) In the same given outline political maploélia (on page 11), locate and label the
following features and attach the map in your answer book : 3x1=3

() Digboi Oil Refinery
() Bhadravati Iron and Steel Plant

(i) Ennore Port

(@) U T ARE & TE-AEEE (I8 9) W I A TSl B UEAMER Ik AW faRay
o f=fafaa =ma € -
@ T T

(@) R T ARG & Toiae W@-AEET (I 11) § 9 9Rifde qeor &, @, T
Licse i) LI Wt e B 11 LS 5 i) Ll ) G s Ele ol | A e el

(m =& Ru T ARA & TofE @At (I 1) § Fefaied e @ Rafy
fearEy @R 3% T fafau qur 5§ A & ST-gRaer § Fe dig
() FomEE q@ aReRom
(i) s Wl SN T
(i) TR o




Note: The following question is for the Blind Candidates only in lieu of Q. No. 27 (a),
(b) and (c).

e frfafaa go7 aw gfteda qhenar & fag 797 q&r 27 (%), (@) §Rk (1) &
&7 T E1

(@) Write down the two states each having one of the following monuments :
() Rashtrapati Niwas
() Gol Gumbad

(b) () Name the Software Technology Park, located in Jammu and Kashmir.
() Name the northernmost thermal power plant of Andhra Pradesh.
(i) Name the international airport of Goa.
(v) Name the oil refinery located in Assam.
(v) Name the oldest iron and steel plant of Karnataka.

(vi) Name the newly established major sea-port in Tamil Nadu.

(@) 3 T % A fafee e fFefaRad & § o1 oIne fea © o
() regufa e
@ T T
@) () 9 R HFR T & R dieday drefir 91 w1 9 Faqreg |
(i) YT YEIT & qE9 AU A SRR GIT HI AW AT |
(i) AT B ARG AG-9AT HT A Ty |
(v) o9 o Rod dd@ URERIUISNAT &7 99 IdRy |
(V) Ffed & qa9 U @rel AR T G4 B 99 Jarey |
(Vi) T g | e & H iU 9@ GHE-IT el AW garsy |



For question no. 27 (a) T §. 27 (%) & faw
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For question no. 27 (b) and (c)

T4 §. 27 (@) 3R (M) F AU
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